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FIRST YEAR HIGHER SECONDARY MODEL EXAMINATION - 2021

Part — 11T Time : 2 Hours
COMPUTER SCIENCE Cool-off time : 20 Minutes

Maximum : 60 Scores

(Hearing Impaired)

~

General Instructions to Candidates :
e Thereis a ‘Cool-off time’ of 20 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully.
e Calculations, figures and graphs should be shown in the answer sheet itself.
e Malayalam version of the questions is also provided.
e Give equations wherever necessary.

e Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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1. Choose the correct answer from the given options for the questions from (i) to (x).

Each carries 1 score.

(i)

(i)

(1i1)

(iv)

(v)

(vi)

What is the base of hexadecimal number system ?
(@ 10 b) 6

(c) 16 (d) 60

Which logic gate has only one input and one output ?

(a) NOT (b) OR

(c) AND (d) NOR
How many bytes constitute 1 Kilo Byte ?

(a) 1000 bytes (b) 8 bytes

(c) 8bits (d) 1024 bytes

Which of the following is a keyword in C++ ?
(a) void (b) Number

) 123 (d NUM

What is the output of the C++ expression 5%2 ?

(@ 25 b) 2
() 5 d 1

Which of the following is a selection statement in C++ ?
(a)  switch (b) for

(c) while (d) break

(vil) Which of the following contains the keyword default ?
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(a) if (b) switch
(c) dowhile (d) main
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(10 x 1 = 10)



1. (i) 2)®@3 (X) USO8  GaloBIBUMGH MEIFHIVIT SN BoalauM)hsled mlanye
0T VBNV HHOHFNNSIHAN)®}. 1 GAPod afl@o. (10 x 1 =10)
(1) ©a0gIOWIVIAG TV AV(MIBIVTTEO G EENIAV af)T® ?

(@ 10 b) 6
(c) 16 (d) 60
(i) 80)mMadang B0) BVFanSe A(@OMBS CLI0eH D DY aB® ?
(@) NOT (b) OR
(c) AND (d) NOR
(ii)) @ 66MIQABUD GalBAN 1 H1OLI066MIQ DENBIDH)AM) ?
(a) 1000 bytes (b) 8bytes
(c) 8bits (d) 1024 bytes
(iv) 21)016S 305 TNBEMMAUDI@ C++ 6181 HlEaI af@® ?
(a) void (b) Number
(c) 123 (d) NUM
(v)  5%2 ag)an CH++ af)hlalet®) 805003 af)a® ?
(@ 25 (b)y 2
() 5 d 1
(Vi) a1)016S 6305)eAleeMaI@d C++ o el HIVRIGHIB CTUYOATT aB® ?

(a) switch (b) for
(c) while (d) break

(Vi) 2a1j0IeS 03:0S)OIBleMMAUXI@3 default af)Im Sleaiw DUBHENISBIIMEY

lON
(a) if (b) switch
(c) dowhile (d) main
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(viil) Which is the first subscript of an array in C++ ?

(@ 0 b) 1
(¢ 10 (d 9

(ix) AnIP addresshas  parts.
(a 4 (b) ©
() 2 (d 3

(x) Which device is used to connect computers in a network ?
(a) Modem (b) Switch
(c) Gateway (d) Bridge

Answer any 8 questions from 2 to 18. Each carries 2 scores.

Draw the Von Neumann’s architecture of computer.

What is the advantage of Unicode to represent characters in computer ?

Draw the logic AND gate symbol.

Write short note on RAM.

What is meant by debugging ?

List out the four types of literals in C++.

What is meant by punctuators in C++ ?

Write any four basic data types of C++.
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(viii) C++ oe1 80) GROOWIOS @RBIOGD AVMIMlaI] ng® ?

(ix)

(x)

@@ 0 (b) 1

(¢ 10 (d 9

B30) Oafafl @RELAVIN_ BINEBG)ME.

(@ 4 (b) o

© 2 (d 3

830) ONQAUABBHNT HMNUPSNDHOG NITUWla {39008 DalEWISENAN Dald:06mMo
lON

(a) caoeWwo (b) avflay

() engeal (d) Enllawe

2 2@ 18 2160088 ¢a1084EBSE108 aBo®BIE 8 af)INODIM QOMOOHRY)®)d>.
2 cmpod aflow. 8x2=16)

HSHMINSAIOHAZ UM MYAB ALISM AUOW) .

SHMUPSFIE3 ERAHOEOBOB (IGATIWIMe H21GIMNTIMBE @eMEHoWlOHd A

af)a® ?

censld, AND eng aflaMo Q10Q) .

RAMeomadla] e1eel) S0l af)$)@)d.

¥ 2
aWlenIgenns ag) MO LI 7

CH+oer moel ®o £1QOLNdUB af)9 @)

CH+ @3 alod»a 1)6AIQO)RHUB af)INIOLITD ?

CHtoel ago@®lene Moei ¢anavld (Wwogd 0OSajdhud af)$)@)d.
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10. What is meant by preprocessor directive ?

11.  Which are the two forms of increment operator in C++ ?

12.  Which are the four components of a loop ?

13. Declare an array in C++ to store 10 integer numbers.

14.  Write any two built-in functions in C++ to input strings.

15. Six bytes are required to store the string “Hello” in C++. Why ?

16. Write any two mathematical functions in C++ and specify the use of each.

17. What is the difference between actual arguments and formal arguments ?

18. What is meant by phishing ?

Answer any 8 questions from 19 to 35. Each carries 3 scores. (8 x3=24)

19.  Write down the characteristics of 4 generation computers.

20. Convert (110111), into octal and hexadecimal number systems.

21. Draw the logic circuit of A + B.C

22. List any three registers in the CPU and specify the use of each.
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10. (@l @i100vavd wosglaragamoeelas ?

11, C+t oe1 nB@lonag 80qa|c0Qaled 0sMe 0)aletBud aBo®E|do ?

12, &0) e)afload moel eIS@ndd aga®eldo ?

13, 10 enadlzr@ Lot 08 ¢IVIAB 6121008 CH++ @3 B30} @0 UWlHWA (a1

14, @dlens)ddd enmBang eaagpan@ilm’ C+ engs oene” mil@dg-gnad afoWau®)dHud
af) ).

15. C+t@d “Hello” apan  @dleon’ equod ealgian@ii®m’ 6 eemIQidud  ¢alemo.
af)0D)EBHIMNE ?

16. C+t oel ago®sslelp 06 200MAGISNEE aNEBaUM)NHUB )91 BoCEITI MW
DaIGWIWo AUYHDIDILN)db.

17, @dal@d  @pAwReadiddlo  Gand3A@  @RAWREAGG8  ®odle;nss
QY@ PAVE DD ?

18.  adlaxlen’ ag)amoeelas ?
19 2)®@8 35 AO0WBS ¢a10383BSE08 aBO®BIENC 8 af) ANATIM DOMOONY)®)d>
3 avend,0a3 allo.. 8x3=24)

19.  Moe1de @EIMO HMUPSNGBINS TVANCUHDIRHUD af)$)@)d:.

20. (110111), &M 8H@3, HaOHIOWAVIAGE MV TVMIBIWEBSE]CEIBH BOF] af)$I®) .

21. A+BC 03 cenedld, AVADYG QIO

22. CPU allengs ago@slene man ogflquoiddd af)9)@ll 80co0ala®io Dalc®oo
QUL BDINIHN ).
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23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

35.

Write any three functions of operating system.

Explain the three types of errors in programming.

Write any three rules to be followed for identifiers in C++.

What is meant by variable ? How is it declared in C++ ?

Distinguish between break and continue statements in C++.

Write down the syntax of switch statement in C++.

Write a C++ code segment to show traversal operation in an array.

Write down the syntax of a user defined function in C++.

List any three advantages of computer network.

Write any three network topologies.

Write short notes on bandwidth and node.

What are the advantages of e-mail ?

Explain the three types of hacking.
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23, ®9qjecodlow) Mgl aRe @ERlLNe MAN WAAEIBUB af)$1@)d>.

24, cppwoderleel 2an ®oo 6@Q)ud AlUdBAIE M.

25, CHteel 9af)awaflan®@0)d0d aloellesnse ago@eslene man leasnd ag)$)®)d.

26.  cadl@miled agMoe el ? C++ @8 @o® WlGoa Oalgane®ssam ?

27. Ct+teerl break, continue equaaaadidud ®elenss aly®PaLeaa ?

28. Ct+teer switch equaaaadead miladd, (AI0BIPLISM) af)$y®)d.

29. mreodieal (SocaIBIVM B30a|C0auoM dV)aflaflesmam 8oy CH oW vodelo

)9 O).

30.  CH+teel 80} @008 AWloOanmBaw afoauH)Af MUI3E; (AIDHIPLISM) af) )@

31, &y 5o 6MQaIRSHNOAE aBO@BIEN0 M)A CADUD af)§I®).

32, apo®®s]el M)A 6mMQaIdas ¢S0cao8edduB af)$) @)

33, snnoamawallaw®, Mo «f)laIn@ENOla] eleend)Fla JdhU8 af)$)®)d.

34, -eowlellond vEmemud a)eameoo ?

35. @A @™o a00asileon AluoElB:@]06)d:.
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36.

37.

38.

39.

40.

Answer any 2 questions from 36 to 40. Each question carries S scores.

(a) Which are the three methods to represent integer numbers in computer ?

(b)

Represent -19 (negative 19) in any one of these methods.

Briefly describe the use of any five input devices.

(a)
(b)

(a)
(b)
(©)

Write an algorithm to find the sum of two numbers.

Draw any four symbols used in flowchart.

What is meant by loop in programs ?

Distinguish between entry controlled loop and exit controlled loop.

Give example for entry controlled loop and exit controlled loop in C++.

Explain the use of any five communication devices in computer network.

FY-366

10

2 x5=10)

)
2)

)
2)

(1)
2)
2)



36.

37.

38.

39.

40.

36 2)®@3 40 2160V ¢21034IBEI @3 ABO@B:IEI 2 af)GNOTIM DONOO AL >
5 aved03 alloo. 2x5=10)

(@) Smuysolad  adlRd  MVoaUidO8  (ITITIWIMe  OalQYINGEIMBE  MAN’

20RUEIBUB aBO®EJ00 ? 3)

() -19 (emwglar’ 19) em @maiceio®lene B0} @IBWo  DalcWIUila

V) fla )89 2)

aBO@BIEe @RI NMBal)g OaldHOMEBSINS DalCINOTNEMNIa]  21)0)8s)

allaIdle9)d.

(2) ©ME TLOAUIMBINS @)D KM IAINTIM BB BRMIENIBIDo af)F}B))d. 3)
(b)  a0E80210A51E3 DalEVIUIILENAN ABO@EILI} ML 2 laMEEBUD AW 2)
(@)  CEPWIAIE elja] af)aMIORIND ? (1)

(®)  apBEl HAMBESIBAL Lh)allo R HIMBESIBAL Ll)alo @ZILNSE QIY®OAV
oam ? 2)
() CHteer af@BEl HeMeGoBw enaflMp oh@lQ @eMeGoBw enaflml

B30a0EMEBUB MEIBN)>. 2)

SHMIPSE OMQAUIBSHNOLI aBO@EBICNo @RERL HIDYIIICHNHT DaldhOMEBRIOS

DalcIWo AfNUoRlB:@l B8,
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